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(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
Rl :- g g37-99 &1 IR it T B=1 fF v s
7 Af5rg; AT ah IR F ARFT VR @ A WET

Answer any Five questions.

All questions carry equal marks.

Fel A ¥7 & FeR Mw
Wt g F FE g B

1. (a) The fundamental principal of Crimingl Liability is
that, “there must be wrongful act combined with

wrongful intention”. Elaborate.

P.T.O.
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(b) Having taken loan from Areal Bank, A purchased
a vehicle. A was to pay regular monthly
installments. Failure to pay two consecutive
installments would result in impounding of vehicle
by the Bank. A went abroad and could not pay
three installments on his return he found that the
vehicle parked in the premises was taken by Bank,
through their musclemen, without his consent.
What, if any offence has been committed by the
Bank.

(%) srfies e @ a9 Rerw ? & dugd smm @
aror At e B W |17 e ®R |

(@) A X 30 qF ¥ F|O AT TH A W owA A A
= faf afte s F@ D R R
T YFN TN D IR ¥F g A6 A UG W
o ST oomy A fRW wen w9 S B A
T AT | I ddler W g & uRer ¥ uw fw
M gET H Nh T FUA SETR W IeE i B
a1 forr w1 Fw ¥ AR A swwy R R @ W
T 2 7 |

2. (a) Arguments between X (husband) and W (wife) on
repayment of loan to the Bank, turned ugly.
Husband slapped his wife and not satisfied with
this threw a burning stove (kerosene 0il) on her.
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The oil with flame resulted into fire in which the
wife was engulfed. Husband tried dose it off.
However, the burn injuries were beyond 70%
which resulted into death of wife four days after
in the hospital. Determine the liability of the
Husband X in the case.

(b) Annoyed due to insufficient dowry brought by X,

her mother in law and husband deliberately starved
and illtreated her by locking in a room. As a result
X’s health detiorated. One day she managed to
escape to reach to a hospital where she was
admitted. Doctor refused the request of her
husband to send her home in such a critical
condition. It took more than 10 months for the
lady to recover. Discuss the offence, mother in
law and husband have committed. Give reasons to

support your answer.

dF A B/ D TN W IR X IR IS W R A
wgq SU 8 WS | Uy F o uel H Aer wR [ qur
T W N TEeR 7 B W I9 BE D A9 e
®WE 39 W BF A "wd & 9y aw fewr @
TRUFEEY A e TS e uet w e T | 9fa 7 Smr
T W e R g W ¥ 70% ¥ o st
gt 81 31 e IRUFRERT 9K o7 918 IEe STt
F I 8 ME | W AN N U X & AT HHEURT

HIT |
P.T.O.
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@) X & I R w= ¥ FgaR Iw 9@ T 9k A

3.

IV WA W@ T T TF FA N aC D IGd
WA W e v | T aRemrasr X & w@wE i
1 | U R 9 e tg @ fow R ¥ w9 P
el I wftee o forn T | et ¥ SR R i R
T gE T A W AT D FRY B gH0 R
I wfeen @ S O X 78 A sl W w0 | A
T 9fe g e @ vy R A | s 3R
= e F @ A

(a) Due to rivaliary arising out of landed property

between A and B. A caused multiple injuries to B
and various parts of body to teach him a lesson.
B was admitted to the hospital, where he was
treated and discharged. When B was on his way
to recovery, he became negligent about his
medicines. He, therefore, developed feaver and
septic of two wounds. B died a week later. State

the liability of A. Cite relevant legal provisions

and decided cases.

(b) Accused X was running a bus at a high speed on

a dusty and damaged road. While negotiating a

curve with the same speed, without applying
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breaks, the bus over turned, killing a pedestrain
and injuring some of the passengers. Prosecution
is interested to prosecute X under Section 304-A

of IPC. Can they do and will they succeed ? Give

reasons.

AT B & 99 4-¥ & RO 99T §¥ IR fay
T EO A7 B R wEF REm @ g Su@ a1k @
faffe=r s W 3w afvar wgwr € B R e
et fra T et et Ffthedn W T o SE T
T ME | V9 B WRA AN W T A TG I I
T & WS IV | I JqR AR IR A WS
¥ dficwm & T | TH qAE G B W GG WAL A
P RS T I IO | GEITT AT Il SR
fafftg saf =1 saen AR |

(@) IPEeR X T gesid 9 g -HE ¥SF W AW TRIR

W SE Tl @ o7 | I& TR W U Qg W sF A 96
TG B wE W 9w vE 9w ued 9 @ ey
TR R O FS AFA F & QW gC I TS |
@ X N FEOH 9 U7 304- A & F=wia X
w ARET v ¥ Remed # 1 = 9 v g
? OU T 9% Gh BNW ! W QN |

P.T.O.
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4, (a) Due to breaking of communal riots between
Community A and B. Members of Community A
caused loot, plunder and fire of the property
belonging to members of Community B. X, who
was a member of Community B was also targeted.
He tried to remain within closed door, to save
himself and his family. However, the mob reached
and started knocking at his door. Before the mob
could enter, X fired from his licensed revolver
and killed a member out of the mob. Mr. X is
charged of murder, however he pleads his right of
Pvt. defence against his charge. Can he do, so?

Give reasons.

(b) Discuss Statutory limitations on the exercise of
Right of Pvt. defence as laid down in Indian Penal
Code.

(%) ¥eE A 3R B & 99 aneidsd @ gE B @ SR
e A @ Wl 3 em B @ weed A ey
FeUc H A FNOE | G9EE B B g X &l
ft I SR T SE IO Ue 91 I uRar
R T D Ry w= wR X @ W o e W
s Tg9 TS T IqD WAt ) e Yo w R | g

= IR GE Y TN X ¥ 0 EdewE RAR ¥ TR
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# o @R Nz ? va wew F W R e X w
B 1 JY A T R WR IA IR = freg wede
wioten & JfER &1 sfEE R 2 = 9w v %
uEHaT 7 7 q Afrg

(@) wwdm g Gfar % awn siftele W wRwen & sfER
® T @ wEER gRams W e #ifte

5. (a) Mr. B and A who were class fellows from class
Xth, developed infatuation towards each other.
They carried the relationship for 6 long years till
the boy did his master’s course and was employed
in good multinational. They had promised to marry
each other and were firm to do so, kﬁowing fully
well that they belonged to different castes. On
the basis of this promise and long relationship they

entered into sexual relationship many a times.

However, finally, when boy disclosed it to his
parents, they refused to do so on the basis of
caste. They threatened the boy of social
ostraization and even death of both of them in
case they do the same. Compelled by these reason
the boy married another girl. The i1ine A, charges
the boy B of having commitied rape with her.
Decide the fate of B.

awi
—
O
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(b) Write short notes on any two of the following :

() Voluntarily causing grevious hust by acid

attack
(i) Voyeurism
(iii) Stalking

(%) wem 108 A WIS © fex B 9k A ¥ @ W R
ufy swerdor S B T | SR 6 e A 6 TR au
T 99 9% SAY @ 9§ qF 8P 7 A AKX F
o fr R 9F T e sgued FE ¥ Paifm @
T SE UE TR ¥ fEr @ owwd Rar o qur 9w
SO e TR gy o F - R s ¥ wwate
FIWM T S Tw g @ A | I T9T R R wwEE
F FUR W IR HF aR qT- 5+ T |

frg o1 % V@ WS 7 I - @ | gemn
fFm @ ST W B MUR W YW A ¥ FARR
fEar | IR e F Y FRT W W AT afvsa
3R 3O T & W AR A O @ | 3T SR & Fam
T wER ¥ R o wee ¥ Rew o R wee
AY TER B W A ¥ TR H H AN TR
B & wiaw =1 Rwag Hivw
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(@) Ffafaa % & 58 @ w aftre o Riftag .

(i) w=sm O9x Uy wRa &

(i) gt
(iii) gF -7 =1 o1 wew

6. A young girl was left to live with his maternal grand
father, as the relaiionship between her mother and
father were strained. One day the father (F) visited
the himself where she was kept and took her with
him for a picnic. Mother (M) on reaching home (the
place where she was living, found that minor daughter
has been taken away without her or maternal grand
fathers consent. She files and FIR, where she alleges
that her daughter has been kidnapped. Advise her

about the success of her case.

Th AT W o A B U G @ i 9 R
o A Ia W A @ N e wow 9w R
e F 39 T W 0 el 3¢ W@ I A 3R I el
% T o 9 & T A ¥ W (W W@ 98 @ @
f) g W U F FaEes a9 w IS AT A A
Tl & B @ S W T ) 36 v g R e

P.T.O.
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Fr @ e e st & fF Sea & o1 [0E
g T 2| IS SUD DG & ThHAD ® SR F WY

S |

(a) “Establishment of an overt act is not a requirement

of law to allow Section 34 to operate in as much
as the Section gets attracted when a criminal act
is done by several persons in furtherance of a

common intention of all.” Explain.

(b) A, B, C, D and E all members of an unlawful

assembly decided to attack X, who was member
of a rival political party. Each one of them was
explained that the attack should not exceed to
cause the death. While all of them went on one
night to attack X, on reaching O and E found that
Mr. X is the same person who has deprived than
earlier of some rightful claim, hence they decided
to take revenge from him X, while A, B and C
and D attached X by using hockey sticks, O
and E had hidden pistol, they directly shot X
dead. Can A, B, C, D and E be held guilty under

Section 149 of Indian Penal Code. Explain your
answer.
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11

IE W IAR w A fFA T ? A e I a4
34 FFT B 2 TET qH Iq UN N GHAA AT B
% fov v g A v A fftee st A& 207

e Y |

T faftfesg v A, foes A, B, C,D 3K E &
FEE ¥, WER A I e @ 9o’ X W Rl
F 1 AT fhar | 99 U | A T 3 X w EHe
FE MW A T I A TR R e wW R T a
& T o w7 @ fr Seeht 9 iR w T
T8t UgT W D § E 7 mn & fwr X =@ =
2 e 9 vest =t e @ e far o el
I X ¥ yfemy o = faffwe fFar wefe A, B 3k
C ¥ X W e fiew ¥ wen fkan, D 3k E ¥ frdet
fourd g€ 3= D N @Y ¢ TS IR I@ | T
A,B,C,D 3R E i wRdg v Rt & aw 49 =
el AN SEA ST WA @ 7 I IR H W

e |

Write notes on the following :

(a) Grave and Sudden Provocation

P.T.O.
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(b) Impossible attempts

(c) Distinction between kidnapping and abduction
frrfoiae w oot foftaw

(&) TN I FEES TR

(@) 'm g

(1) =EEEr R SR & A g

(3200)
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